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2.NBT.B.7 Add Within 1000 – Regrouping Ones 

 

 

2.NBT.B.7: Add and subtract within 1000 
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If there are 10 or 

more ones, regroup 

10 ones as 1 ten. 

 

Add.        136 

             +  315 
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Step 1 

Add the ones.  

6 + 5 = 11 

Regroup 12 ones. 

12 = 1 ten 2 ones. 
 

Step 2 

Add the tens.  

1 + 3 + 1 = 5 

Regroup 12 ones. 

12 = 1 ten 2 ones. 
 

Step 3 

Add the hundreds.  

1 + 3 = 4 

Regroup 12 ones. 

12 = 1 ten 2 ones. 
 

Answer: 136 + 315 = 451 

Find each sum. 
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Hundreds Tens Ones 

   

  1 

Hundreds Tens Ones 
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2.NBT.B.7 Add Within 1000 – Regrouping Ones 
Answer Key 

2.NBT.B.7: Add and subtract within 1000 
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Step 1 

Add the ones.  

6 + 5 = 11 

Regroup 12 ones. 

12 = 1 ten 2 ones. 
 

Step 2 

Add the tens.  

1 + 3 + 1 = 5 

Regroup 12 ones. 

12 = 1 ten 2 ones. 
 

Step 3 

Add the hundreds.  

1 + 3 = 4 

Regroup 12 ones. 

12 = 1 ten 2 ones. 
 

Answer: 136 + 315 = 451 

Find each sum. 
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If there are 10 or 

more ones, regroup 

10 ones as 1 ten. 

 

Add.        136 

             +  315 

              

 


